CLASS: VIII
DAILY ASSIGNMENT-6
DATE: 25. 04. 2020
SUBJECT: ENGLISH
Multiple Choice questions

TOPIC: PREPOSITIONS
Fill in the blanks with suitable prepositions from the choices given below:

1. We played cricket Sunday.
a) on
b) in
c) at
d) since

2. |stayed in Mumbai __ amonth.
a) in
b) since
c) for
d) until

3. Hewas at Udupi ___ Karnataka.
a) at
b) on
c) over
d) in

4. The company has taken __ a number of small firms.
a) up
b) over
c) in
d) of

5. Mr. Sharma divided the cake __the two children.
a) in
b) among
c) between
d) into

SUBJECT: COMPUTER
Multiple choice questions:

1. Which of the following components can be compared to the sense organs like eyes and
ears of a human being?

a) Input devices

b) Output devices

c) Secondary storage devices

d) CPU (Central processing unit)



2. The component which are the storage devices and storage media that are not always
directly accessible by a computer?

a) Secondary storage device

b) Input device

c¢) CPU (Central processing unit)

d) Output device

3. 1024 gigabyte is equal to:
a) 1 kilobyte

b) 1 megabyte

c) 1 gigabyte

d) 1 terabyte

4. Data base programs are the examples of which of the following components of computer?
a) Application software

b) System Software

c) Hardware

d) Accessories

5. Line printer is which kind of printer?
a) Impact printer

b) Non-impact printer

c) Laser printer

d) Both ‘1’ and ‘2’

SUBJECT: MATHS
Multiple choice questions:

1. If% % 5% — 5*~1 = 50, then the value of X is

a) 2
b) 3
c) 4
d 1
2. Number of prime factors in (512)= x (1024 )= x (864)= is
a) 4
b) 9
c) 6
d) 8
3. The solution of 2%7% =

a) 3
b) 2
c) 1
d) 4

n?n:l"‘



4. The product of two numbers is —20/9 . If one of the numbers is 4, find the other
number.
a) -5/9
b) 3/11
c) 12/39
d) -9/11

5. The reciprocal of a negative rational number
a) Is a positive rational number
b) Is a negative rational number
c) Can be either a positive or a negative rational number
d) Does not exists

SUBJECT: PHYSICS
Multiple choice questions:

1. A pressure exerted by liquids at the bottom depends on
a) height of the liquid column.
b) shape of the column.
c) shape of the container
d) width of the liquid column

2. As we go the higher altitude the atmospheric pressure
a) increase
b) decrease
C) remain same
d) change

3. School bags have wide straps
a) to increase pressure
b) to decrease pressure
c) due to atmospheric pressure
d) due to friction

4. Wooden sleepers are kept below the railway line
a) to reduce pressure
b) to increase pressure
C) pressure changes
d) pressure remain same

5. A sharp knife cuts objects better
a) due to thin edges
b) due to thick edges
c) due to friction
d) due to force



SUBJECT: CHEMISTRY

Multiple choice questions:

1. The strongest synthetic fibre is
A) nylon

B) rayon
C) polyester
D) acrylic
2. Which of the following fibre threads is actually stronger than a steel wire of similar
thickness?
A) Wool
B) Nylon
C) Silk
D) Rayon
3. Lycrais a synthetic fibre which is also known as
A) nylon.
B) acrylic
C) spandex
D) rayon.
4. Which of the following is non-biodegradable?
A) Paper
B) Cotton cloth
C) Wood
D) Plastic

5. Which of the following is natural fibre obtained from plants?
A) Cotton
B) Wool
C) Rayon
D) Ketone
SUBJECT: BIOLOGY

Multiple choice questions:

1. Which of the following tool helps in uniform distribution of seeds while sowing?
(@) Thresher

(b) Funnel connected to pipes

(c) Seed drill

(d) Sprinkler

2. The process of drying wheat stalks in the sun and then beating to separate the grains is
called:

(a) Winnowing

(b) Threshing

(c) Churning

(d) Sieving



3. Arrange the following agricultural practices in the order in which they are followed:
I. Harvesting

Il. Sowing

I11. Storage

IV. Irrigation

V. Preparation of soil

@ 1, 11V, v

(b) V, 11, IV, I, HI

© 1LV, IV

d) Vv, HL v, 1L

4. What are the advantages of preparing the soil?
(@) Allows roots to penetrate the soil easily

(b) Makes the top soil nutrient rich

(c) Makes decomposition by microbes easier

(d) All of these

5. Identify the agricultural method in which different crops is grown on a piece of land
season after season.

(@) lrrigation

(b) Monoculture

(c) Crop rotation

(d) Shifting cultivation

SUBJECT- CIVICS
Multiple choice questions:

1. Which among the following is not the key feature of the Indian Constitution?
A)) Federalism
B.) Monarchy
C.) Fundamental Rights
D.) Separation of Powers

2. Which right guarantees equality to every person before law?
A) Right to Freedom
B) Cultural and educational rights
C) Right to equality
D) Right against exploitation

3. Which of the following is not an organ of Government?
A) Legislature
B) Executive
C) Judiciary
D) Marxism



4. What is the third-tier of government of India?
A) Panchayati Raj
B) Municipal Government
C) State Government
D) Central Government

5. Constituent Assembly met for the first timein___ .
A) Calcutta
B) Madras
C) Allahabad
D) New Delhi

SUBJECT: GEOGRAPHY

Multiple choice questions:

1. Resources created by human beings are called
a. Natural Resources
b. Industrial Resources
c. Localized Resources
d. Man made Resources

2. Some of the principles of Sustainable Development are : (Select the incorrect one)
a. Minimize depletion of natural resources.
b. Respect and care for all forms of life.
c. Government should only take care.
d. Conserve the earth’s Vitality and Diversity.

3. Cereals, pulses and oil seeds are examples of :
Agriculture Resources.

b. Mineral Resources.

c. Water Resources

d. Human Resources.

o

4. The resources whose quantity is known are :
a. Potential Resources.
b. Water Resources.
c. Actual Resources.
d. Exhaustible Resources.

5. Resources are the free giftof
a. Value
b. Development
c. Nature
d. Region
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